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QUESTION 1

Which is NOT a valid service provided by Oracle Enterprise Scheduler Service (ESS)? 

A. running Java, PL/SQL, and binary script jobs 

B. invoking jobs on external On-Prem and SaaS applications as scheduled on the Oracle Enterprise Scheduler 

C. configurable to allow or restrict running multiple job requests associated with a single job definition concurrently 

D. distributing job-request processing across a grid of application servers 

E. invoking jobs on external On-Prem and SaaS applications as scheduled on the those Schedulers 

Correct Answer: B 

 

QUESTION 2

What options are available for Escalation and Expiration of human tasks in Process Cloud Service? 

A. Escalate, Restart, Next or Previous 

B. Renew, start, end, or error 

C. Never Escalate, Skip, hierarchy, or New 

D. Never expire, Expire, Renew, or Escalate 

Correct Answer: D 

Configuring Task Expiration, Renewal, or Escalation 

You can configure a human task to never expire, to expire after a certain time, to renew the expiration 

time, or to escalate after a certain time passes. To configure an action to perform on a specific deadline: 

Click the Escalation and Expiration tab on the implementation pane. 

The Escalation and Expiration tab appears. 

Use the radio buttons to specify if you want the human task to Never expire, Expire, Renew, or Escalate. 

Never expire: the human task doesn\\'t expire and if no user completes it, it remains in the users task list for 

an indeterminate period of time. 

Expire: the human task expires after the specified time and is no longer accessible from the task list. 

Renew: when the specified time passes, the expiration date is extended for one more period until it 

reaches the specified amount of renewals allowed. 

Escalate: when the specified time passes, the human task is escalated to the specified escalation levels. 
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https://docs.oracle.com/en/cloud/paas/process-cloud/user/configuring-human-
tasks.html#GUID3869867C-45A3-48E4-9DFB-EE9980B2C2B0 

 

QUESTION 3

Assuming that a particular user possesses the "Deploy to Gateway" grant, what grants on an API are required in order
to deploy that API? 

A. Manage API or Deploy API 

B. Manage API 

C. Entitle API 

D. View all Details and Deploy API 

Correct Answer: A 

Reference: https://community.oracle.com/community/oracle-cloud/oracle-cloud-developer-solutions/blog 

 

QUESTION 4

Which three are characteristics of Device Virtualization? 

A. Oracle Internet of Things (IoT) Cloud Service does not support Device Virtualization. 

B. You can monitor each device endpoint\\'s health, performance, and location via the client software 

library API or with REST calls made to those devices. 

C. You can collect data from your devices using APIs delivered with Oracle Internet of Things (IoT) Cloud Service Client
Software Libraries or Oracle IoT Cloud Service Gateway. 

D. The APIs provided enable you to send telemetry messages and device data from your devices to Oracle Internet of
Things (IoT) Cloud Service, control your devices, and deploy applications to your gateway devices. 

E. Devices used are not real. They are virtual devices and linked with Oracle Internet of Things (IoT) CS. 

Correct Answer: BCD 

Reference: http://www.otechtalks.tv/an-introduction-to-oracle-internet-of-things/ 

 

QUESTION 5

Which is NOT a key advantage of using Oracle Integration Cloud (OIC)? 

A. Public/Private Cloud Portability 

B. choice of IDE for development 

C. Auto Association of Oracle SaaS Applications 
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D. prebuilt integrations 

E. recommendations 

Correct Answer: B 

Reference: http://www.oracle.com/us/solutions/cloud/cloud-integration-wp-1873149.pdf 
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